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solid metal sphere at voltage (VA
rmethod of iMages, for a Srouno\eo\ sphere
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First, we check this location of ¢
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we need the sehere at \[ --> add a charge to the middie of the sphere (image c.)
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Then we see from the book that the force between the sphere and q is

L 49 ~ Qg 1

F g UTe, LQ—b\Q o




Correct dimensions Only origingl variables in the answer. Mo information from
the IMages visible, Attractive force between a Srouno\eo\ sphere and a charﬁe

G but an addition to the force comes from the finite eotential. & >0 then the
additional force is repulsinve i€V, > O

"Positive charﬁe q i not actracted to \oos\ﬂve Po’renﬂal.
The first term is 'mo\e(aeno\enJr of the S\f)n ot q



\nsulaﬂnﬁ ct)l'mo\r‘\cal shell with surface charﬁe o\ens‘\’ra
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\0 ctjl'\no\r'\cal coordinates the 3eneral solution to the Poisson
equation (no line charﬁes):
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we need to use the bouno\artj condition (*) and remember that sin(n@) are
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Taken +03e+her:
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(c) The potential is @ pure octopole potential as the sgs’rem in whole is uncharﬁeo\.
An unbalanced charﬁe would alwags create a Indr) term in cal'\no\er samme’rr\j.

(o) \ add pictures of the potential and the electric €ield on the next pages,






V(x,y)*(8gp)/(acy)




E(x,y)*(2ep)/(00)
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